? 3 / 5 6 7 8 9 10 ] E

forbidden without express

it 1o ofhers ond the use or communicofion of the confents thereof, ore
fion will constitule on evident cbuse ond result in o liabily fo the payment of damaoges. All rights

da brevetti o modelli.

CUSTOMER N° DETAIL A

KUNDEN N° 2.1 RED PLUG

N* CLIENT DECKEL ROT

N° CLIENTE BOUCHON ROUGE
15

DATE

are reserved in the event of the grant of palent or registration of o ulility model or design. This document is the subject of copyright.

Non e permessa consegnare o ferzi o riprodurre questo documento, ne ubilizzarme il confenuto o renderlo comungue note o terzi
senza autorizzazione esplicita. Ogni infrozione costituirg un evidente gbuso e comportera il risar cimento dei damni subiti.

E'fotha riserva di fulti | diriti derivanti
Capying of this document and giving
authority. Confravention of this restric-

nicht gestattet, sowed
verpflichten zu Schadenersatz.

et de modeles.

droits de propriete industrielle reserves, notamment en matiere de brevets
Vervielfoeltigong dieser Unterloge, Yerweriung und Mitteilung ihres Inhalts

‘;b% cre © MAXIMUM LEVER AFTER FIRST FILLING
WABCO IDENTIFICATION NUMBER MAXIMALER FUOLLSTAND NACH DER ERSTBEF ULLUNG
WABCO TEILE NUMMER NIVEAU MAXIMUM APRES LE PREMIER REMPLISSAGE
> NUMERO D' IDENTIFICATION WABCO MASSIMO LIVELLO DOPO PRIMO RIEMPIMENTO
: > NUMERO D'IDENTIFICAZIONE WABCO
N PLASTIC TUBE (POLYAMIDE 12) EXTERNAL @8-£0.1x@640.1
PLASTIKROHR (POLYAMID 12) AUSSENDURCHMESSER @8-0.1x@640.1 AX. MISALIGNEMENT OF PUSH ROAD DETAIL A
. TUBE PLASTIQUE (POLYAMIDE 12) @ EXTERIEUR @840.1x@6+0.1 MAX.AUSLENKUNG DER DRUCKSTANGE
5 : TUBO (POLIAMMIDE 12) @ ESTERNO 08-+0.1x@640.1 DEBATTEMENT MAX| DE LA BIELLE
U - DEVIAZONE MASSIMA DELL ASTA DI
! COMMANDO
3.5%%
o @ i
@@ / o4
/ b 0, QﬁD ©
/ | \‘ \L & BHTd
_:_ _ _ _ _ _:_ : | = — — og
\ / ] _— — - ___l_ g
\ /I - - k’\ - ’ a f & a
A
\ / 4 | I
\ — , .
a | e _ _ \ l
A % SPHERICAL
j %0 3041 <2 5 1 17 KUGELFOERMIG
STROCKE SPHERIQUE
- 144 - HUB | SFERICO
e SCREWS*WASHERS*SELF LOCKING NUTS ARE NOT PROVIDED BY WABCO
HYDRAULIC TERMINATION 75 95 0> SCHRAUBEN, UNTERLEGSCHEIBEN M8 UND SELBSTSICHERNDE MUTTER M8 NICHT LIEFERANTEIL VON WABCO
HYDRAULIK ANSCHLUSS L\ - —te - VIS+RONDELLES+ECROUS AUTO FREINES NE SONT PAS FOURNIS PAR WABCO
RACCORDEMENT HYDRAULIQUE o4 TIGHTENING TORGUE
IDRAULICO CONNESSIONE ' - 280 -
ANZUGSMOMENT .
. B PLASTIC TUBE (POLYAMIDE 12) EXTERNAL @6£0.1x4:0.1.PULLING OR PUSHING FORCE ON THE TUBE F<5doN B T - e g,
o AP &o HEEREA PLASTIKROHR (POLYAMID 12) AUSSENDURCHVESSER @6-0.1x@440.1.ZIEHEN ODER DRUCK DER KRAFT AUF DEM PLASTIKROHR F<SdaN Cl=8.5 £1.7 + C2
Ne o 1 TUBE PLASTIQUE (POLYAMIDE 12) @ EXTERIEUR 06-0.1x@4+0.1.EFFORT ADMIS POUR POUSSER OU TIRER LE TUBE F<5daN SCREWING TORQUE
2 / TUBO (POLIAMMIDE 12) @ ESTERNO 6--0.1x@4+0.1.TIRANDO O SPINGERE FORZA SUL TUBO F<5daN REIBMOMENT MUTTER o ()
> 7 SCREWS AND WASHERS M8 COPPIA O TORSIONE D! SCoPATO
3 SCHRAUBEN UND UNTERLEGSCHEIBEN M8
| _ — — &9 _ VIS ET RONDELLES M8 SELF LOCKING NUTS M8
. Q f i \| \7 SELBSTSICHERNDE MUTTER M8
o\ T | = = ECROUS AUTO FREINES M8
AN ‘ L )\E (4
00 -0'0/1 . _ _ ] - -. + --1|
ZRAA ” | - (L Y » G\ [ R Py
> ¥ BEEREE N O
| T IO TINNVIN
- N N J\ <l i Al —
—— X (&\
T IS FORBIDDEN TO ASSEMBLE THE SERVO MASTER ON THE PEDAL BOX IF IT IS UNDERGONE A SHOCK BEFORE CAUTION : DO NOT ACTUATE THE DEVICE IF NOT FITTED ON ITS MOUNTING BRAKET | 1
VORSICHT :GERAET DARF NUR IM EINGEBAUTEN ZUSTAND BETAETIGT WERDEN S /
ES IST VERBOTEN, DEN SERVOMASTER ZU MONTIEREN,WENN ER ZUVOR AUF DEN BODEN GEFALLEN IST AT ENTION T PAS ACTIONNER. L7APPARE L &/ N'EST PRc FIXER SUR SON SUPPORT Nl a\lZa
IL EST INTERDIT D’ASSEMBLER UN SERVO EMETTEUR SUR LE PEDALIER SI IL A SUBI UN CHOC AUPARAVANT. TTENZ IONENON VETTERE 1N FUNZIONE. L APPARECCHIO S NN E'FISeATO AL SUPPORTTO e ——— —— el I
E VIETATO DI CONGEGNARE UN PADRONE SERVO SOPRA SCATOLA DEL PEDALE SE A SUBITO UN LRTO PRIMA ° — - |14 s
4 A = = —_'tjﬁ—:—
L _3 N
MARKING OF PORTS SUPPLY PRESSURE USABLE HYDRAULIC VOLUME ' )
KENNZEICHNUNG DER ANSCHLUESSE P1 VORRATSDRUCK I o BAR <« P1 < 10 BAR MAX [NUTZBARES HYDRAUL IKVOLUMEN 14+1cm3 o 99,5192
MARQUAGE DES ORIFICES PRESSION PNEUMATIQUE D ALIMENTATION FILTERED 160 MICRON - VOLUME HYDRAULIQUE UTILE -1 = il
MARCATURA DEGLI ORIFI/I PRESSIONE PNEUMATICA DI ALIMENTAZIONE CILINDRATA UTILE
AIR SUPPLY DELIVERED HYDRAULIC PRESSURE \ORVAL PRESSLRE . 45 Bar | WORKING POSITION =Y 400
1 LUF TZUFUHR P2 AUSGESTEUERTER HYDRAUL IKDRUCK MAX VUM PRESSURE . 50 BAR FINBAULAGE -
ALIMENTATION AIR PRESSION HYDRAULIQUE DELIVREE EOR CLUTCH V. 3 POSITION DE FONCTIONNEMENT 4x < > SPECIAL CHARACTERISTICS
AL IMENTAZIONE ARIA PRESSIONE  IDRAULICO LIBFRATA POZITIONE DI FUNZIONAMENTO CARACTERISTIQUES SPECIALES
OIL INLET HYDRAULIC FLUID MINERAL OIL o e o Te 2IEor
o |OELZUFLUSS HYDRAUL IKFLUESSIGKEI T MINERALOEL AR P 10 BAn 2VIBOLE i
ALIMENTATION HUILE FLUIDE HYDRAUL IQUE HUILE MINERALE M 3289 /HF-1 SIMBOLO /
ALIMENTATION OLIO FLUIDO [DRAULICO OL1O MINERALE Y,
PUSH ROD FORCE . 12 /
DELIVERY HYDRAULIC THERMAL RANGE A 3 — — .
'/ LA o General Specification: JED-334-0 Copyright WABCD
,  |AUSGANG HYDRAULIK THERM. ANWENDUNGSBERFE | CH 199 | | e o 100 ————— WWARBGO
UTILISATION TEMPERATURE D'UTILISATION -40°C....+80°C 1 2 . | y Doo. Cocer435 et | To 8 e T rvesapie ] SERVO MASTER
UTILIZZAZIONE TEMPERATURA DI UTILIZZAZIONE 001 W= = | TR KUPPLUNGSGEBERMODUL
4001 / SR 00507-04 |_Osren | SERVO EWETTELR
AIR EXHAUST 200 1 | . > coss 1 | 250 |= 80 |+ 400|> 400| <L CAZENAVE MINT SERVOFRIZIONE
S | 00 | | : Fire “ ., ﬂ . Mass Scole Waterial MNa. E\]J\IABCO |d. EJ&: 97400060
3 |ENTLUEFTUNG KURZEITIGER MAXIMALER BETRIEBSDRUCK 13 BAR EINE STUNDE LANG (8 I — | v o (2o o] & | 062 | 1 974 010 006 O [roe Tavee [ 41
ECHAPPEMENT PRESSION DE SERVICE MAX. EXCEPTIONNELLE 1 HEURE A 13 BAR (IMFIME NN L |- — - o S Te 5 T Tas L 005 | &% | 1/1
SC/_\R|CO ( mm ) 1 Q 1.2 DCN-Na. | Rev. Date Tapped Holes acc. 150 4039-JED-152 A 1 570 EI /AR Function Code | CAD System | Prod. Type Replacement for
State of Revision 1) Tolerance Closs Applied Crossmarked = .F:rO/E. 00X -

auforisation expresse. Taut manquement o cette regle constifue un abus evident et expese son outeur qu versement de dommages ef

Toute Communication ou reproduction de ce document, foule explaifation ou communication de son canfenu sont inferdites, souf
intersfs. Tous

nicht ausdruecklich zugestonden.  Zuwiderhandlungen stellen einen offensichilichen Missbrauch dar und
Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

Wefergabe sowie

| R ] | 1 5 b \/ 7 3 9 | - =




